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INSTRUCTIONS TO CANDIDATES :

Read the following instructions before you answer the
questions. Answers are to be given in a SEPARATE OMR
ANSWER SHEET provided inside this booklet. Break the
seal and start answering the questions once asked to do so.

Please write your ROLL NUMBER very clearly (only one
digit in one block) as given in your Admission Card.

There are 90 questions in this test. The questions are
arranged in the following order :

* Questions 1 to 35 belong to Social Science Subjects.
* Questions 36 to 70 are on Science Subjects.
¢ Questions 71 to 90 are on Mathematics.

. Select the most suitable answer for each question and

completely darken the circle corresponding to the correct
alternative as shown below.

Correct Method Wrong Method

DP0® | ORR e

All questions carry ONE MARK each.

There is no negative mark. Every correct answer will be
awarded one mark.

Do not write your name on any part of the question booklet
or on the answer sheet.

Rough Work can be done in the space provided at the end
of this Booklet.

The Question Paper will be given in the form of a Question
Booklet. There will be four versions of Question Booklets
with Question Booklet Alpha Code viz. A, B, C, D.

The Question Booklet Alpha Code will be printed on the
top left margin of the facing sheet of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be
noted in your seating position in the Examination Hall.

If you get a Question Booklet where the Alpha Code does
not match to the allotted Alpha Code in the seating
position, please draw the attention of the invigilator
IMMEDIATELY.

Check whether the Alpha Code given in the Question
Booklet and the OMR Sheet are the same.

The Question Booklet Serial Number is printed on the top
right margin of the facing sheet. If your Question Booklet
is un-numbered, please get it replaced by new Question
Booklet with same Alpha Code.
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There are 90 questions in all. For each question
four alternative answers are given marked as (1),
(2. @), (4). From these, find the most appropriate
answer. The number denoting this answer is there
in the answer sheet against the question number
concerned. Darken the circle with Blue/Black Ball
Pen only. Record the answers thus in the OMR
answer sheet only. Do not write anything in the
question booklet except your Roll Number on the
cover page and rough work in the space provided
for the purpose.

1.  Match the following correctly.

@6 90 @.0lorEmE®d P, 8Cd EanAEBIM
(1), 2), (3), @) agyom @SOSl moeal
AUYOR 9emEo afl®o e#:0s)Efgins. @RI
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Emo  men3jallSlanisk. OV HEmoe O
H0180M OMUD 9EMELOSLIOMI@ @®mOR
salogyoflomaion ome. v mmud @psedlw
QUyEmo Miel @POYYHIM @&:0jal dedlwias eniockd
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GOAUOA|SIAM ).  GoloGiMmWd  @oseElw
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MMM, Oad AUBSEMY cnlendl marigias cuoeiw sy
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@ @) () (9

1) @ @@ @@ @)
2) @) @) @ ()
(@) @) @@ @) ()
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2. The Partition of Bengal occurred in :

(1) 1900 (2) 1902
(3) 1915 (4) 1905
ENG+MAL
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Depth of the Earth’s mantle is estimated as :

(1) 100 km (2) 2900 km
(3) 3460 km (4) 6371 km

M.M. Punchi was the Chairman of :
(1) - Centre-State Relations Committee
(2) Constitutional Review Commission

(3) Administrative Reforms Commission

(4) Union Finance Commission

The city of ‘Lagash’ is associated with :
(1) Mesopotamia

(2) Egypt
(3) Rome
(4) China

Which conference created the International
Monetary Fund (IMF) ?

‘ (1) Berlin Conference
(2) Washington Conference
(3) Brettonwoods Conference

(4) Geneva Conference

Hectopascal is the Unit for recording :

(1) Temperature

(2) Atmospheric Pressure
(3) Humidity

(

4) Wind Speed
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8.

The only President of India elected unopposed
is:

(1)  Zail Singh

(2) V.V.Giri

(3) Neelam Sanjeeva Reddy
(4) APJ Abdul Kalam

9. The Harappan Cultural Site Rangpur is
located in :
(1) Rajasthan (2) Uttar Pradesh
(3) Gujarat (4) Punjab
10. Identify the centre of power which did not
belong to the ‘Muvendar” of South India.
(1) The Cholas (2) The Chalukyas
(3) The Cheras (4) The Pandyas
11. Which among the following is NOT a
medieval university ? ‘
(1) Nuremberg (2) Padua
(3) Cordova (4) Paris
12. Indian federation is based on the pattern of
which country ?
(1) USA (2) Canada
(3) Australia (4) France
13. The Meteor gets burnt out due to friction
in:
(1) Stratosphere
(2) Troposphere
(3) Thermosphere
(4) Mesosphere
ENG+MAL
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14.

15.

16.

18.

To become a Governor of a state, a person
should have completed the age of :
1 (2) 35 years

(3) (4)

30 years

40 years 45 years

Which of the following Fundamental Rights
was declared by Dr. Ambedkar as the ‘Heart
and Soul’ of the Constitution of India ?

Right to Equality

Right against Exploitation

Right to Freedom of Religion
Right to Constitutional Remedies

1)
(2)
(3)
)

What is the maximum permissible strength
of the Legislative Assembly of any state in

India ?

(1) 400 members

(2) 425 members
(3) 500 members /
(4) 525 members _/

The process of Physical disintegration or
chemical decomposition of rocks is termed

as :
(1) Mass wasting (2) Erosion
(3) Deposition (4) Weathering

Catalhoyuk in Turkey belongs to :

(1) Palaeolithic Age
(2) Mesolithic Age .
(3) Neolithic Age

(4) Chalcolithic Age
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19. Identify the dynasty of Bimbisara. 19.
(1)  Shishunaga dynasty
(2} Nanda dynasty
(3) Haryanka dynasty
(#) Khushana dynasty
20. '\\_Tla.t is the Proportionate volume of Carbon | 20.
dioxide in the atmosphere ?
(1) 20.95% 2 0.93% /
3) 0.037% 4) 0.01%
21. The quorum requirement in the Rajya Sabha | 21.
1S :
(1)i~:25 (2) 50
(3) 100 4) 126
22. Identify the major latitudes which passes | 22.
through India.
(1) Equator only
(2)/Tropic of Cancer only
(3) Equator and Tropic of Cancer
(4) Tropic of Cancer and Arctic Circle
23. Which of the following states in India has | 23.
bicameral legislature ?
(l ) L\,13(1}1},'3 Pradesh
(2) Tamil Nadu
(3) Rajasthan
(4) Karnataka
7
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(1) 20.95% 2) 0.93%

3) 0.037% 4) 0.01%

ORYMEE eWOMmo @D 0@ 5600
caleme 01)0)6El@ @oNMoay (&:|000)

ag)@® ?
(1):+:25 (2) 50
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3)
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24.

25:

26.

27

Geysers are :

(1) Shallow tubewells in Sandy regions.
(2) Natural sinks of surface water.

(3) Phenomenon of severe ejection of hot

water from within the earth at regular
intervals.

(4) Porous rocks where water is stored.

In India, Constitution Day is observed on :

(1) 24 November (2)

(3) 26 January (4)

26 November

30 January

Which among the following features is NOT
represented by black colour in maps ?

(1) Roads

(2) Railways

(3) Telephone lines

(4) Latitudes and Longitudes

Which among the following is wrongly
related ?

(1) Swami - The Judiciary
(2) Amatya - The Minister
(3) Durga - The Fort

(4) Janapada - The Territory
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28. India receives maximum rainfall during :

29.

30.

31.

32.

(1)  Southwest monsoon season \/

(2) Northeast monsoon season

(3) Winter season

(4) Summer season X

Who is regarded as the father of Political
Science ?

(1) Plato _ (2)
(3) Socrates (4)

Aristotle
Machiavelli

Name the founder of Ramakrishna Mission.

(1) Raja Rammohan Roy
(2) Sree Ramakrishna Paramahamsa
(3) Swami Vivekananda

(4) W.C. Banerjee

Topographical maps are examples for which
type of maps ?

(1) Large Scale Maps

(2) Small Scale Maps

(3) Physical Maps

(4) Cultural Maps

The Constituent Assembly of India held its
first meeting on :

1) December 6, 1946

(2) December 7, 1946

(3) December 8, 1946

(4) December 9, 1946

ENG+MAL
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P.T.O.



Class - VIl
33.

34.

35.

36.

37.

The joint sitting of both Houses of Parliament
in India is presided over by :

(1) President
(2)
3)
(4)

Vice-President
Speaker of Lok Sabha
Minister for Parliamentary Affairs

Which among the following is the correct
pair ?

(1) Ralph Fitch - France

(2) Ibn Battutah - Syria

(3) Francois Bernier - France

(4) Tavernier - England

The book ‘Sankaranarayaneeyam’ is related
with : :

(1) Ayurveda

(2) Mathematics

(3) Education

(4) Astronomy

Amoeba belongs to the kingdom :

(1) Animalia (2) Monera

(3) Fungi (4) Protista
Production of superior quality plantlets by

joining the stems of two plants of the same
species is called :

(1) Budding
(2) Hybridisation
(3) Grafting
4) }Layering
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38.

39.

-40.

41.

- 42,

Which of the following radiations is used for

measuring body temperature as per
COVID-19 protocol ?

(1)

Microwave radiations

(2) Radio Waves
(3) Infrared radiations
(4) X radiations

Doctors prescribe medicine to counteract
acidity in stomach to :

(1) Increase pH

(2) Decrease pH

(3) Keep the pH same

(4) None of the above

Which among the following is a chemical
change ? ‘
(1) Germination of Seeds

(2) Action of vinegar with baking soda
(3) Cooking of food

(4) All of the above

The polymer which cannot be recycled is :
(1) PVC

(2) Polythene

(3) Polypropylene

(4) Bakelite

Which of the following is least polluting fuel

for vehicles ?

Diesel
CNG

(2)
4)

Petrol

Kerosene

1)
(3
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43. A mixture of coconut oil and water can be

separated by :

(1)  Filtration

(2) Evaporation X

(3) Separating funnel}
(4) Condensation X

44. Aluminium foils are placed inside an
electroscope as shown. The outer and inner
sides of the aluminium foils are marked as B
and C respectively. If the leaves of the
electroscopes contain positive charges, the
charges on the portions marked as A, B and
C will be :

Aluminium
Aluminium —>» Foil

Foil C

(1) A - Positive, B - Negative and C -
Negative.

(2) A - Negative, B - Positive and C -
Negative.

(3) A - Positive, B - Negative and C -
Positive.

(4) A - Positive, B - Positive and C -
Negative. '

ENG+MAL
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Heldm
43. eaigleo)len®io ggel o
m’lg?lmaﬁ em(bmﬂmﬂo_gsg,oeoo@
9aIE@OUIleHM UEE®O
1) mracﬂa_rysg,oeoco‘b
(2) eruoadafla6mo
3) cmraeog\ma” an6ma@d
(4)  moIlenEemo
44. &0} Qe!&:"etsom“c&ao@mggg(@
P OIQEIHEIQN easone @oeialdioo
3a00Qf@d L@:oi'loe)(&_%ﬂr&ces)g,mg. @nedloiloo
canolelo a1300BNNIL0 DIGICHIRIeNT
@Loao B, C ag)a™ BOHUOETBID EIBH06N3Y
oy aflaflofidleaiams. 010028 ©alEliSies
@m&“@tso«o“eoe;oﬂ]ang el
gatomilglal alode  HOEMO{Sidh-
@oeemsl@ A, B, C agm @0 ETBEIOR
alobed Qoo -
o
0061 @oeydlaiieo
RNl L e Ga00f@
Ga00W@ C
1) A - eatomilglal, B - emwmglal,
C - emmglal
2) A - emoglal, B - eatomiglal,
(8), Ania saloavlglal, B - Qmmgﬂ(ﬁ‘,'j
C- salomiiglal -‘
4) A - satomiiglal, B - easomiiglal,
C- ammnglal i
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SAT

45. Notice the food chain given below : 45.

Grass — Deer — Lion

Lion in the above food chain is a :

(1) Secondary consumer

(2) Producer

(3) Primary consumer

(4) Tertiary consumer
3. [s N| o e Y 5] | 4.

A rectangular block P is placed near the

second bar magnet as shown. Then:

(1)

(2)

3)

(4)

The repulsive force between the
magnets will be reduced if P is made

up of wood.

There will be no change in the repulsive
force between the magnets if P is made

up of wood.

There will be an attractive force
between the magnets if P is made up of

ron.

The repulsive force between the
magnets will be reduced if P is made

up of Nickel.

ENG+MAL
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21)01OS MM B1HHIM BHAYUD jobLLl
DA B6) 1.

alj@de.2)8) — moad — mfloado

o By Wioslalafldd miloanamle
quadmo

(1)
(2)
(3)
(4)

aAlefll@ salecsmont
OB
(@oLndlld ©aIEBISMIT

(@fl® ©aleeosmOOS

N| P | N S |

2N @ETN@ £H06eMIM@IEAIINA! AENBIDETD
enUod HOMOTIMSIEMORS] Alafldlanm
21EOHHIWIEM P :

(1)

3)

P 00405Q0606Me@ H0NmetEudasiis-
ofleal afle:dauemenitlo &iO®io.

P 00£605QeeMEI@ 500memBidasis-
fleoal  afle:dayen  elalewlo
@oge@omMyo ey

P ED NI} HGDOEEM &1
HOMEMADSS SV @ @D bBaHEM
enielo AN,

P a6 @ 506 M1 @
SHomemRasiseiloa allddanem-
TUEI0 dBhO®]0.

P.T.O.
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47,

48.

ENG+MAL

Which one of the following is not a process
of nutrition ?

(1) Assimilation Filtration

(2)

(3) Absorption Excretion

(4)

A U shaped tube containing kerosine is
attached to a pipe OX as shown below. If air
is rushed through the pipe, then.

ol

I R R R R
DQWNF—\OH&(})I#
RN
' A

The kerosene level in the limb B will rise
if air flows in the direction OX.

(1)

The kerosene level in the limb A will rise
if air flows in the direction OX.

(2)

The kerosene level in the limb B will rise
if air flows in the direction XO.

(3)

(4) No change in the kerosene levels will
be observed whatever be the direction

of flow.
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D

BI0nHAM (D@ HWBOQISOBHE agy®) ?

Mool doemo  (2)  @PAIHO@

(1)

aflrvdgmo

@ uiloemo (4)

(3)

U aodyeloiengs 680 ROy &9 ey
06alq 00 (OX) 2Nl(® ol @
#06m afldleeim dalleld caislallafld-
#OIMY. ROQY Hiwall@d y0.2]) OeeREM
dloaflgieng.  eealeflenes @AM
BUMEDIED oy HSEYE aflsyamy.

O

1
B OINHORNGR

I'il'

OX dled@ alow, (dQUadGl oo B
RIOS BONOE aeEMEN WL

OX dleafldd alowy @IQladlajomd A
VIS BINOOED aeeRem SO,

XO dlnalad alow, (IQUadl oo B
WIOS BOWO B QeEPEN OWolo.

)

(@) cg® Adl® aowy iaiadapsyge

DOWER WialamloR pwomDIM]
Q@R Q.l(og,ce;(nﬂ%,
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49. Choose the correctly matched pair :

(1) Ribosome - Powerhouse of

the cell

(2) Nucleus - Regulatory
centre of the cell

(3) Golgi complex - Protein
synthesis

(4) Mitochondrion - Cytoskeleton

50. Acid rain is due to the oxides of
in the atmosphere.

(1) Carbon (2) Nitrogen

(3) Chlorine (4) Fluorine

51.  Which of the following surface will not reflect
light ?
(1) Black cotton cloth
>(2) Red floor tile

(3) Violet cardboard

(4) Sea water

ENG+MAL 15
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51.

D

o exos) 6.aldmM®) A6 emmS)En .

(1) e6e0as6MIENV0 - LI O[T
oudz mlaiwo
(2) adao - CdOnETled
' aloEmem
Geh((T30
(3) ewoRl - @moomy)
GehOog by’ afldmoemo
(4) e6meRo- - Gdomomudl-

@06 (SIG@O6ID &)S0

@A APWHE HOMEMo AOMDHBILHUGETI 6L

066 TVAIHEIEM.
(1) Hodented (2) eemEsRM
(3)  egodilad (4) Qi

21QOS OdhISIEBIABlenM UG afm™)
(al®melmoem’ (ol &9 0 6) BYD)
aflauaflaflonomma ?

(1) S0 aloyemiami@o

(2) M moswos

B) ag @oduiesnoda

(4) msmdgelo

P.T.O.
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52. Which of the following alloy does not contain
copper as the major omponent ?

1)
)
®)

4)

53. Water breaks into its constituents by :

(1)
(2)
(3)

(4)

54. Growing of plants in a nutrient solution is

Stainless steel
Bronze ™

Bell metal }/\‘

Brass

Heating
Applying magnetic field
Passing electricity

Sunlight

called :

(1)
()
(3)

(4)

ENG+MAL

Tissue culture

Aeroponics
Hydroponics

Precision farming
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52.

53.

54.

D
PO OLE22 10 R T=TE Y

e»0q]d B0  (alwog
ﬁsomm" oROSI@ ?

21Jes
0 80 6TBE] @
apIS&HmO®f ©UDe

1) ogoideairs gio
(2)  alensoendav
(3) O HDR@

(4) (6nIoY

REIOED @O RIS BINETBIES]
sRBBlEeHM® :

(1) 215086l
(2) BT meMWAID)aIC@IUIla]
@) eaceudl esorlalls

(4) VYl lcOUSl

rouy6emE 68 GaloaHdh 1o @M] @
QU@ deoem

(1) Gy @cdad
(2) g@EOIGAIOEIHMY
(3) 66N WICAIOEMH MY

4) (Slayad anoofler
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55.

A vessel is completely filled with a liquid.
Then hollow steel ball is put into it. If the
ball floats in the liquid as shown, which of
the following is the correct statement ?

(1) The surface of the bottom of the vessel
in contact with the liquid will
experiences a pressure equal to the

atmospheric pressure.

(2) The surface of the bottom of the vessel
in contact with the liquid will
experiences a force less than that
experienced when the vessel is

completely filled with water.

3) The surface of the bottom of the vessel
in contact with the liquid will
experiences a force greater than that
experienced when the vessel is

completely filled with water.

The surface of the bottom of the vessel
in contact with the liquid will

(4)

experiences a force equal to that
experienced when the vessel is
completely filled with water.

ENG+MAL
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55.

(2)

D

80} alo@ET@ Moew B} (B0 1floo)
B0 MOENCRIDIHE) @00 6alOSRWIW B0}
@  enogo sy} af@asicd
Hoeml afldleenim  dlalald  emogo
(BOUBHETN@D SaltoeodlaelSanymiant sl
OO alO®mMal @ NI
(ImSmocm a@® ?

(1)

(B0 VMIdEe D888
aJo(@@TO R OSIGOETE
(oaE@ @mealng]sim adgo
@0 (0 ) ! adagEmIm]
@)oo dleno.

(BOQUSHAIDOW] MMIRSHOTI LRSS
alo (@O 6 @oslom Sl el
(UORIET@ @OMIEOR|SIM eniglo
alo|®o Mmoo (B0QUd»0
20RO BMEa 0B Haariiem-
SO0 )OO @lEe0.

3) (B0QUIHARMOW qMIbeoETees
al0 (@AW 6 R @oslomsleel
(I®LIEDE @RMIBAINA|SIT eUalo
ald®o MO (BIUHO DI~
my6meo@fl@mMaea]odd 98 a1 MWD
5100 f|@lanio.

4) EOUHIMOW U d &6 oo 121188
10 (@@ OQ @eslemgles
(@eIOE @MIBALeQ|SIM enielo
ald(®o mloeow (B80QUHO
2o(@@EMEoR3MEa |0 o8aalamos

@)@ dlaago.

P.T.O.
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56. The surface of an iron pipe was coated with | 56.
another metal zinc to :
(1)  Protect from sunlight
(2) Make it dust free
(3) To make it more conducting
(4) To prevent rusting
57. M M 57.
o<€-->-p- -@------0
O I I
<>
2cm
I is the image of the object O formed by a
plane mirror M. I'is the image formed when
the mirror is placed in M' after increasing the
object distance by 2 cm. What will be the
distance II' ?
(1) 2cm (2) 3cm
(3) 4cm (4) 6cm
58. Choose the statement which is INCORRECT [ 58.
about blood.
(1)  The fluid part of blood is called plasma.
(2) Haemoglobin gives red colour to blood.
(3) More than 90 percent of plasma is
protein
(4) Haemoglobin carries oxygen and
carbon dioxide
ENG+MAL 18
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&0 S oealgflad lmealo mﬂae:qu)m
gpI0a00 HB:06E GElalMo ©.2IPM®

(1) (ru‘;mémcm“aﬂce:g]m’b aflomes
rooHHeMETIaY

oaodlaseieBgl@d aflany
mg,cemmoces)ocﬁﬁ

A loeldh MOEOAI0 SIS MIaY

()

(3)

4) @t fdleoad mswod
M M

*-<--)- . ¢

O I I
<>
2cm

mameaisdalemo M my ayarilefldlanym C
agm alv@yafle (alalenflosnimosm I
almmal@d dlomge BdalemEslon a0
2 cm 8l cudaliaflo] M' @ auieaemiod
9MB0HYM (alaflenflosnimosm” I'. ag)®la
300 II' ag)® ?

(1) 2cm (2) 3cm
(3) 4cm 4) 6cm
QsMETOM  HClal Elwg o

L I®OQUM BFROEMSISO .
(1)
(2)

QSO (B0QUS BONDOANT gJoa

OBMEWIM alaial aloo M@ ME
adlemoeggoeniicd @oen.

HOMDWIOS 90 LOODOM Y21 d>
8laloglDd @6y,

aole@oeomld @odsmilgammy
SOV WSO HHVUNO MW
MoUadMo 6.21QIMM,

(3)

4)
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59. Which of the following is an example of

60.

61.

62.

exothermic reaction ?

(1) Decomposition of calcium carbonate
(2) Adding water to calcium oxide

(3)  Reaction of Mg with oxygen

(4) Oxidation of iron

Identify the tissue that consists of cells which
can contract and regain the original state :

(1)
2
)
O

Muscular tissue
Connective tissue
Epithelial tissue

Nervous tissue

The salt formed in the following reaction is :

NH,OH(aq) + H,SO4(aq) —
(1) Ammonium sulphide
(2) Ammonium sulphate
3)
4)

Ammonium nitrate
Ammonium hydroxide

The statement which is true about both CO,
and H,.
(1) Both are required for photosynthesis

Both are colourless

(2)
3)

They give acidic solutions in water

(4) They are highly soluble in water
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59.

60.

61.

62.

D
®06)¥a]OWIM W@
ROMAIIBEDMO af® ?
(1)  Hoaddmyo soderueemglon afleaismo

(2)

@MoalGMO2ldh

HOMBMjo BoHeeTlealHs Belo
@.IRS6MD

@Ml ayyaulo
(aud@mMo

B0 M1 RMIDIW IR

3)

@) eoymilend sasmileosmo

mes0allenomio al)d Q) audle]
@oallenomio H¥lalEs GHONEBRD
@RSETAIBENIM HaIWoeN) :

(1)
(2)
(3)
(4)

GalUdlamel
GO LI
@M EHE
mocuSlsel

®06¥a]O®IM @O (ol LD EBHM
QDRIMOWIENBOSBYM AICLIEMO :

NH,OH(aq) + H,S0,(aq) —
(1)
(2)
(3)
(4)

@PEAoMIWo MVeHANL
@OEMOeMo MVWReanq
@Penoei@o aHOMElSH
@OCMOEMIQO HEANGALIBHOETVCUY

CO,, H, agomiaue® mosnumuil.e] todlow
(mmoIm a@m) ?
(1)

(I HOUD
9aleIUSlaaninm]

VoG (R aH EM B

(2)
()

D0} CUOMHETBRBe OIS

goleml@  eonemiod  @eas
[elin)lep) F:NCWCIE ) (ag o)

el o @d Plwlolag)
06163,

cRI@®]o

(4)

~P.T.O.
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63. Which of the following pair of celestial bodies | 63. 2020

took part in the rare astronomical event (GT@&’OUO&QO@QJ

observed on December 21, 2020 ? emogmffb :

(1) Sun and Venus (1)  ToIRYMY° VoM
(2) Venus and Mercury (2) oMo erUMYo
(3) Jupiter and Mars ‘ (3) Qupvalo ©210Q®0
(4) Jupiter and Saturn (4) alowale vl

64. Which one of the following is not required | 64. 21}QI6S DR BSOIM AU (aldbIe

for photosynthesis ? (rUoGLRAHEM@YSITY @RGP aR® |
(1) Carbon dioxide (1) 0B AWEILHEETVALY

(2) Oxygen (2) eoHmileRm

(3) Water (3) =elo

(4) Chlorophyll (4) aO@lmHHo

65. Choose the correct statement from the | 65. _aljcues m(ﬁ%cﬁ;lmﬂ(b']cﬁ@&mmmﬂm% aar

following : REARO [ IMSmocum afoeamms)end.
(1) Cuscuta is a saprophyte (1)  wSgommos] 80 eI Igfaflwosm
(2) Photosynthesis does not occur in (2) soaflslom (TU(TUJGGBQ@%
insectivorous plants (100 MV0BERaUeMO msaamilg)-
(3) Loranthus is a partial parasite B) owlRe.ols) B80) @PAARL al®IBC
@oem.
(4) Monotropa is an insectivorous plant (4) Gmocemomso%l (=10 @(on_ﬂS'lcvﬂ%
roYy@06My’ ;
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66. The correct symbol of lead is given by :
(1) La (2) Hg

3) Pb @) P

67.

Three identical bricks are placed ona wooden

Plank as shown in the figure. Choose the
correct statement about the force exerted by
them on the wooden plank.

(1) Brick Ais exerting the largest force.

(2) Brick Bis exerting the smallest force.

(3) Brick C is exerting the largest force.

4) The force exerted by all the bricks are

equal

ENG+MAL

21

D
paIW ag)Mm MEIHETIOR oo
(@l :
(1) La (2) Hg
3) Pb 4) P

TO@OM@OW YN} aHEldbbD NI
HoMIM  OIFIIED 80} alelaefl@d
(B @ 2| BleeMy. aleldOl@  @oal
(le@oudlaniam enuai@oefl Iqweals
a@ROle MBI (IMIEIUM aR® ?

1)

(2)

(3)

(4)

a@gQio 5 )S}® @D enielo
(1@ @OUI BHIM @ A ag)om
DA S| @O6M.

QR0 x0T eniglo (IGOUSEOIN®Y
B ag)0m 60nlea-moe.

af3pQo £ )53 @ enelo
(B@OUTlEni M@ C ag)m
DU\ H@OEN).

ag))0 LSS0 (IoUSlaanzmm
ENIRIETRD @}E)\DOBM.

P.T.O.
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68.

69.

70.

71.

The basic level of classification is :
(1) Species (2) Genus
(3) Kingdom (4) Phylum

Ice at 0°C kept in vessel is continuously
heated. The density of water thus formed
will :

(1) Increase continuously
(2) Decrease continuously
(3) First increase and then decrease

(4) First decrease and then increase

Which of the following property is specifically
associated with a body moving with uniform
velocity ?

(1) It travels equal distances in equal
intervals of time

(2) It moves with uniform acceleration

(3) It always travels along a'straight line

It will be moving under a force acting
in the direction of motion

(4)

The minute hand of a clock is 7 cm long. What
distance does the top of the hand move in 15
minutes ?

(1) 10 cm (2)
(3) 13cm 4)

11 cm

14 cm

ENG+MAL
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D
AdBeremasioal @SIaUAoM@AIDIEM:
(1) oVafadloy’ (2)

(3) lesawo 4)

Kmav

66 aneio

80} O@ETI@ 0°C @ alafleymm
£)ag) TV Fh WD mgs&)_ozl,@omﬂu
213508831080 TI $H M. @0 ®
MBI WLENBOEHM REIETHIOG TVOM® :

(1) ot adcllenio

(2) msdo o] &H)0®io

(3) @@aj adallenio alloam &0®lo
(4) @G &0 aflomm adadlenio

A (eI CQUM OB @ VeI @] £6) 30N
amweaflmy oo@ooi B&I6MO|SIM
mlleroat® ap® ?

(1) ey o oseaigssld @Lly 3o
LeRADH6) 0.

(2) ameemo e6n20@ildlenio

3) aggloeweqlovio em®d
cosulanaildenio MOETRIG1H6)) 5.

(4) 2amdlveiad @MIBAUISSI™ &0}
enualETImy allewomiaigoidleo
MOETDUBB6) k.

80} eHKossleal  almysy v allesy
7 euBlalgd cilgmieng’ 15 alafigiedsoems
dlmigy cafleyes @Wo ag@ 630
aosridleno ? e

(1) 10 eav. a. (2)
(3) 13 exv. ol (4) 14 eav. ail.

11 ev. ).

S o WAy e
LA RS
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72.

73.

74.

e

PQRS is a square of area 1 cm2. K and L are

the mid points of PQ, QR respectively. What
is the area of AKLS ?

1) 3 om’
@ 7 om?
@ 3 em?
@ g em®

The smallest number that must be subtracted
from 1729 to make it a perfect cube is :

1) 1 @ 3

@) 5 4) 8

W-I:{\ich of the following is equivalent to

8000 ?
24 x 52

2
4)

23 x 104

6
(3) 23x5* (0-2)°% 10

ENG+MAL
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D

PQRS agam maoimeewlod aieqjgal
1 a1 em. dlgooem. PQ, QR agmicuwes
awyenllasiengoem @ino@mo K, L. AKLS
O} alog|gen® ?

P K Q
L
S R
1 A
1) 3 o em. all.
1
(2) 7 o em. all.
:3
(3) g =& e. all.
.5 ‘
4) 3 o em. al.

1729 @ mlemio &) aljdemn celmmosy)
HIF0M HOWEHNEMB afRQio OG0
Mo6 e ?
@ 1 @ 3
@ 5 @ 8

®IOY 60w dlenymauaiicd 8000 my
®EDOQ® af@osm ? |

1)
()

23 % 104 () 2%x52

23 x 54 @) (0.2>x108

P.T.O.
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75.

76.

77.

A train leaves a station at 4.45 AM and
reaches another station 150 km away at
8.30 AM on the same day. What is the speed
of the train ? ‘

40 km/h
45 km/h
50 km/h
55 km/h

1)
(2)
(3)
4)

- ABCD is a diameter of a circle of radius

1 cm. The lengths of AB, BC, CD are equal.
The shaded figure is formed by semicircles
drawn on AB and BD.

What is the perimeter of the shaded figure ?

2m

21 cm Z— cm
! 3

(1)

3 () 41
2 3

cm

What is the least number which when
increased by 8 is divisible by 21, 28, 36 and
48 ?
(1)
3)

1000
1200

@)
(4)

900
1100

ENG+MAL
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5 ¥

D

a0} egRau @@  mlomye
Aoy 150 #leeialigd
omoamies 20820 ch}zﬂﬁﬂﬁﬂm%
apemdlaimo /o8 8.30 a7 ag)EmIMN.
ag)el@ sued@es cNed® 4

(1) 40 &) dl/ memileed
) 45 & o/ aeriengd
3) 50 &. o)/ menlengd
@) 55 &) dlf oemleed

80} acuendl
aoaflee! 4.45 aY

1 em. digd EDOMSS B0 @émmﬁeq@
ayomaoem’  ABCD. AB, BC, CD
agmlal@es migo ®jeymoem’. AB, BD
ag)miluilenes @O WL YO0 TR
9a16WoUdl.ojo6m HaHW eo1® afl®o
Aldaxfl 2| Ao a).

OaUQW 61D T a3 afl(@omlefd
2R8I ? ' :

1) 2w emo.al. 2 2T equd.
5320
3
(3) —;- e.a. (4) %T om.all.

el
208

-

8 digloaflmy ewoauo 21, 28, 36, 48" ag)m
MOOBYHUD BIB06MB) alegadio an@lBHOAM
a@RNe ©21dl® mosn)e ?

(1) 900 (2)
(3) 1100 (4)

1000
1200

& ) '.\.).
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78.

79.

80.

81.

When the price of an articlé was increased
by 50%, the number of articles sold decreased
by 30%. What was the effect on the sales ?

(1) 5% increase
(2) 5% decrease
(3) 10% increase
(4) 10% decrease

A and B can do a piece of work separately in
10 days and 20 days respectively. They work
together for a few days and then A leaves.
B completes the remaining work in 5 days.
How many days did A work ?

1) 2
(B) 4

)
@ 5

If the perimeter and diagonal of a rectangle
are 34 cm and 13 cm respectively, what is
the area of the rectangle-?

(1) 40 cm?
(2) 60 cm?
3) 80cm?
(4) 100 cm?

ﬁﬂe average weight of 40 students in a class
is 30 kg. If the teacher’s weight is included

the average increases to 31 kg. What is the
weight of the teacher 7

(1) 31 kg (2) 40kg

@ 71 kg (4) 8lkg

éNG+MAL
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78.

79.

80.

81.

D
B0) ammiaiean aflal 50%
adadloflajeqotd allg AUMI®IEOR16S
ag)EROTI@ 30% HIOARAIAM]. OBOEDmO
aflefainal@ agnmy al@ioumenzoes 2

(1) 5% cudavbmal
(2) 5% #oat

() 10% cudavmal
4) 10% #oal

A, B agomiloud&s) BQWS 80} czzoell
6.010m) &dLe0M @LNo@Hmo 10 dlaumalie
20 dlauaualjo alemo, @D MeN2)Baldlo
eoId  ag@omio Elaumo  egoefl
.l @gsdo A ezoell pealasilal
ealodnimy. dloimes emoell B madle® 5
Fllo OdhoMe] @ASNIMY. A ag)l®
dlaumo @g2oell 6.010®) ?

1 2 2 3

@ 4 4) 3

80 almeaien angaaie alledemale
@o@®ao 34 emalalgoie 13 eavdgl-
dlQO@oeeMeEI@d lmeaied alog|gal
ag)® ?

(1) 40 i e. dl.
(2) 60 2l eqv. dl
(3) 80 ol e. dl.
(4) 100 21 em. dl.

&} goqdieal 40 aflapPdmAHaINs I
N0 30 dHERIoWIMmIEM. @OUIOAI 6T
Old00 &Sl Eo1dEmOM GBI
31 &eelo(monde o®rlo. ag) & 1@
@OUWIOAIHEN EEOHODI® ?
&) @

(3) (4)

40 o). (D00
81 . (NJ0

31 &l (D00
71 &) (D00

P.T.O.



Class - VIl SAT
82. 70% of the total number of books in a library | 82.
are in English, 50% of the remainder are in
Malayalam and the remaining 1500 books are
in Hindi, How many books are there in the

library altogether ?
(1) 700 (2) 7000
(3) 10,000 (4) 15,000
83. A number when divided by 221 leaves a | 83.
remainder 64. What is the remainder if the
number is divided by 13 ?
®m 0 @2 1
(3) 11 @ 12
84. A motor cycle covers a distance of 100 km in | 84.
1 hour and 40 minutes while a car covers the
same distance in 1 hour. What is the ratio of
their speed ?
1 2:3 (2) 3:4
3) 3:5 4) 2:5
85. The difference between the largest and | 85.
: 1E5200 5l
smallest of the fractions 4’ 58 1o 8
1 1
n .3 @ 7
3 3
@) g @ 7
ENG+MAL 26

D

a0} alo@muoaiaiiesl D6
aljmsemgldd  70% snogladleioeny,
evall@anymalaficd 50% memogimﬂe.mﬁ
al ol m88 1500 .l J 00’ o 60B
adlaF leens. af)®@, QI0@M UL @)
ADOB af)(® Al memBeIens ?

(1) 2) 7000

3) 4) 15,000

700
10,000

80} Moaye® 221 §H06s} a0dlalealodd
64 WHla¥i'so QIM]. DE® Moaljeo® 13
00613} an@l.2jomd Hladsemany ?

1) 0 @ 1

3) 11 @) 12

80) CmIE500 eequesld 1 memlen)d
40 adlmigieHoems 100  #sleeoadlgd
MOERABIHHYM}. BRGD® BJ00 BM) HOD &0}
Demleeyd oo UG HHYM,.
@OQUQIOS eQo ®an] el leg
@OOUNEMIMLODND ?

(1)
(3)

223 2 3:4

325 (4)

25

7
2 9ml elanmosys gl

u|l o

L)
41 ’ 81
Ao Qlell®io a@QQllo a,o,jog,mgo
®arlaes Q@M '

d

(1) @

(3) (4)

| W

=
8



class - VIl SAT
go. If x2 + 1 =23 . 1
-2 ,whatisavalueof x + —? | 86.
X
1) 2 (2)::3
3 4 (4) 5
87. Find the sum : 87

§8.

§9.

50.

114+12+13+.....+110 + 111
(1) 6060 ) 6161
(3) 6061 (4) 6160

85X 75 is same as which of the following
expressions ?

(1) 85%x50+85%x15+85x10+85x%5
(2) 75%X50+75%x15+75x10+75x%5
(3) 75%x40+75%x20+75%X15+75x%5
(4) 80x5+80x70+70%x5+5x5

The father’s age is twice the son’s age. 30
years ago, the father’s age was eight times
the son’s age. What is the son’s present age ?

40
50

2
4)

35
45

1)
(3)
as deposited at

A certain sum of money W

simple interest at a certain rate for 4 years.

Had it been put at a rate 2% higher, it would
have fetched T 50 more as interest. Find the

sum:

(1) ¥ 600 (2 T625

3) T 650 (4) T 675
-000-

ENG+MAL
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88.

89.

90.

D
A 1
x+?—23 og)aea'lm‘b,x+;6)<@amg
aflaio@osy ?
1 2 2 3
@) 4 4) 5

®lds HOEMI> :
11+12+13 +.....+110 + 111

(1) 6060 2) 6161
(3) 6061 (4) 6160

®OOY 6)dHOSIOT Bl HHIM UG agy@iimy
®3elmoeny 85X75 7

(1) 85x50+85x15+85x10+85%5

(2) 75%x50+75%x15+75%10+75%5

(3) 75%x40+4+75%x20+75Xx15+75%5

(4) 80x5+80x70+70Xx5+5%5

@olo} U@ 0s6e0) oo
enagIoem. Mia|®inlbatio MM @RolOQR
AoQ ase) cAled 8 ases
@RI}, af)BHIT AHOP DEalOPOHED

Q) ag)® ?
1) 35 (2) 40
(3) 45 (4) 50

80} ®d» 80} oluzlo mlosslcd 4
AUbadeEmSs  qowonem  alefl@ e
adleadallanymy. 2% swdan aleflw
alossld alesuall oflojrmeaisslad I 50
&€ alelneimoriad eldenimoloiomy.
ag)BITd i ag)@® ?
(1) ¥ 600

(3) 650

T 625
T 675

(2)
4)

-00o0-
P.T.O.
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SPACE FOR ROUGH WORK
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